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--3=+3=3

-+3=-3,

+-3=-3,

++3 =+3=3,

~(-3)=--3=+3

-3,

~(+3)= ~+3 =

:—3’

+-3)= +-3

+(+3) = ++3 = +3,

= -8

-3-5

+3+5=+8 ,

S0 UEEAM 1300t E= ZL 00| &0 LG &L

|-

+8-8=0, -5+5=0, -8+8=0

+5-5=0,

8-8=0, -5+5=0, -8+8=0

5-5=0,

00l =l Bl X2

g 2A)ele

S0t

—

=2

+5-3=+2+3-3=+4+2+0=+2
-8+5=-3-5+5=-3+0

-3



4. =Xt AL AN, 230 = B8R
1. +6+2=6+2=+8=8
L. -4-2=-6
c.9-7=2+7-7=2
=, 4-7=4-4-3=-3
o, -5+1=-4-1+1=-4

o, -5+8=-5+5+3 =+3=3

5. A A& &M, 230t e B2

. +6+(-2)=6+-2=6-2=4

r

. +6+(-8)=6+-8=6-8=-2
C.-9+(+7)= -9++47 =-9+7=-2
2. -4+ (+5)=-4++5=-4+5=1
0. +6-(-2)=6--2=6+2=8

5, -5-(+3)=-5-+3=-5-3=-8
A —4-(-5)=-4--5=-4+5=1

©.-4-(-2)=-4--2=-4+2=-2

6. Atcl== =ctZ M,

iy
I

1022 Lo =CH

HH

A
1.8+6=8+2+4=10+4=14
—.9+8=9+1+7=10+7=17
=.-9-7=-9-1-6=-10-6=-16

= -6-5=-6-4-1=-10-1=-11



7.2t =2 SAe =0 Bt M, 2 Xtel =)l 2l Al &ketCh
1.18+4=18+2+2=20+2=22
—.39+2=39+1+1=40+1=41
=. -29-4=-29-1-3=-30-3=-33
=2, -58-3=-58-2-1=-60-1=-61
©.18-4=10+8-4=10+4=14
2.32-7=30+2-7=30-5=25
A, =29+4=-20-9+4=-20-5=-25

©. -53+7=-50-3+7=-50+4=-(50-4)=-46

8. S Atcl==2t S Atel==It 2t [, Xtel==J)lcl H &tEHCH
2.13+34=10+30+3+4=40+7 =47
-.39+26=30+20+9+6=50+15=65
=.-22-34=-20-30-2-4=-50-6=-56
=2, -58-23=-50-20-8-3=-70-11=-81
2.58-24=50-20+8-4=30+4=34
=2.32-17=30-10 +2-7=20-5=15
A.29-64=20-60+9-4=-40+5=-35

©.53-87=50-80+3-7=-30-4=-34

A (-) I ELNH (=) 0122 A0 C (+)

L. 825 HAYS B
=.5x(-6)=-30 (b8 N, E40122 A B5=-)
=2.(-5)x(-6)=30 (-t S M, ®20/02 MRS E= +)



2.5 x(-8)x2=-80 (-Jt& I, EX022 HH R5=-)

2
A BX(=8)x(-2)=80 (-JtF M, ®20|22 MHEEE= +)

©. (-5)x(-8)x(-2)=-80 (-2t N}, E0122 BHESE -)

(=) It 2000 (<) 01D D0l T (+)

=.18+(-3)=-6 (-JF 8, 820122 ®AY B5= -)
=.(-18)+(-3)=6 (-Jt 50, ®&0122 BHREE= +)
©.(-18)+3=-6 (=Dt 8, E40122 A 85= -)
=.5 x(-8)+2=-20 (-JF 8, 240122 ®H 25= -)
A 5x(-8)+(-2)=20 (IS W, B20122 BHESE +)

o (-5)x(-8)+(-2)=-20 (-JFM M, 22022 & &

M. 2=
D22 S2H BN AHAEC
o, OH 2 ZS2H AL

=.3-{2-(6-8)}=3-{2-(-2)}=3-(2+2)=3-4=-1

= (-3)+{2+(6-8)-3}=-3+(2-2-3)=-3-3=-6
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= 5x3+5-8=15+ 5-8=20-8=12
©.5x (3+5)-8=5x8-8=40-8=32

5.12x4 +2=48+2=24



A.24 +-4x2=6x2=12
©.24 +-(4x2)=24+-8=3

= 5-7+9-10=-2+9-10=+7-10=-3

—3+(5-8) _ 34(3) _ 38 _ -6 _ _,
1-(4-6) ~—  1—-(-2) ~ 1+2 — 3
—3x4+6+(5-8) _ —1246+(=3) _ —12-2 _ —14 _

12+3—(4—-10)+2 ~  4—(—-6)+2 ~— 4—(=3)



